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7. Given .r = 3, ?/ = 4, z = - 5, find the values of

(a: + y -f .r)' - 3(.r -f y f z)(.r?/ + yz + 20:) ;

^'(y ~ 2) + 3/'(2 - ^) + 2'(^ - y)

;

(5a: - 4 z)^ f 9(4a: - z)'^ - (13a: - bzf ;

(3a: + 4y + 5z)'+(4a:4-32/ + 12z7-(52,-+ 52/+ 132/.

8. li s = a-\-b-{-c, find the values of

(2s - a)'H (2s - ^>)'- (2s + c/

when

(i.) a — 3, 6 = 4, c = b\

(ii.) a = 21, 6 = 20, c = 29;

(iii.) a=119, 6=120, ^=169;

(iv.) a = 3, 6 = — 4, c = 5
;

(v.) a = 5, 6 = 12, c = - 13.

9. If a = l, 6 = 3, c=5, c?= 7, c = 9, /= 11, show that

±+1 +1+1 + i =iA_iY
ab he cd de ef 2\a fj

'

1 + 1 1 + 1 VI 1

aba hcd cde dcf A.\ab ef)
'

1,+ 1 J_^l/ 1 1

abed bedc edef 6\abe defj
'

::. a' + b' + c' -ab-be — ca = 6''+ c'-\- d'- be~cd~ db

— e^ + d'^ -\- (? — cd — do ~ cc

= d'-^(?-\-r-de~ cf-fd.


